This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 17 - Culloden and Ardersier

3,782

946

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Roddy BALFOUR	Independent	763
Glynis CAMPBELL-SINCLAIR	Scottish National Party (SNP)	669
Raine CULLEN	Scottish Conservative and Unionist	685
Thomas LAMONT	Independent	86
Donnie MACLEOD	Scottish Green Party	149
Pauline MUNRO	Scottish National Party (SNP)	623
Trish ROBERTSON	Scottish Liberal Democrats	592
Matt WAKELING	Scottish Labour Party	215

Total 3,782

This report contains the transfers results.

Stage 2 - Exclusion of Thomas LAMONT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	27	1.00000	27.00000
Transfer to Glynis CAMPBELL-SINCLAIR	8	1.00000	8.00000
Transfer to Raine CULLEN	12	1.00000	12.00000
Transfer to Donnie MACLEOD	7	1.00000	7.00000
Transfer to Pauline MUNRO	4	1.00000	4.00000
Transfer to Trish ROBERTSON	9	1.00000	9.00000
Transfer to Matt WAKELING	5	1.00000	5.00000
Value of non-transferable ballot papers			14.00000
	Total		86.00000

This report contains the transfers results.

Stage 3 - Exclusion of Donnie MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	27	1.00000	27.00000
Transfer to Glynis CAMPBELL-SINCLAIR	27	1.00000	27.00000
Transfer to Raine CULLEN	8	1.00000	8.00000
Transfer to Thomas LAMONT	0	0.00000	0.00000
Transfer to Pauline MUNRO	28	1.00000	28.00000
Transfer to Trish ROBERTSON	32	1.00000	32.00000
Transfer to Matt WAKELING	21	1.00000	21.00000
Value of non-transferable ballot papers			13.00000
	Total		156.00000

This report contains the transfers results.

Stage 4 - Exclusion of Matt WAKELING

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	47	1.00000	47.00000
Transfer to Glynis CAMPBELL-SINCLAIR	20	1.00000	20.00000
Transfer to Raine CULLEN	26	1.00000	26.00000
Transfer to Thomas LAMONT	0	0.00000	0.00000
Transfer to Donnie MACLEOD	0	0.00000	0.00000
Transfer to Pauline MUNRO	27	1.00000	27.00000
Transfer to Trish ROBERTSON	74	1.00000	74.00000
Value of non-transferable ballot papers			47.00000
	Total		241.00000

This report contains the transfers results.

Stage 5 - Exclusion of Pauline MUNRO

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	36	1.00000	36.00000
Transfer to Glynis CAMPBELL-SINCLAIR	556	1.00000	556.00000
Transfer to Raine CULLEN	5	1.00000	5.00000
Transfer to Thomas LAMONT	0	0.00000	0.00000
Transfer to Donnie MACLEOD	0	0.00000	0.00000
Transfer to Trish ROBERTSON	36	1.00000	36.00000
Transfer to Matt WAKELING	0	0.00000	0.00000
Value of non-transferable ballot papers			49.00000
	Total		682.00000

This report contains the transfers results.

Stage 6 - Surplus of Glynis CAMPBELL-SINCLAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	278	0.26093	72.53854
Transfer to Glynis CAMPBELL-SINCLAIR	0	0.00000	0.00000
Transfer to Raine CULLEN	34	0.26093	8.87162
Transfer to Thomas LAMONT	0	0.00000	0.00000
Transfer to Donnie MACLEOD	0	0.00000	0.00000
Transfer to Pauline MUNRO	0	0.00000	0.00000
Transfer to Trish ROBERTSON	220	0.26093	57.40460
Transfer to Matt WAKELING	0	0.00000	0.00000
Value of non-transferable ballot papers			195.18524
	Total		334.00000

This report contains the transfers results.

Stage 7 - Surplus of Roddy BALFOUR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	0	0.00000	0.00000
Transfer to Glynis CAMPBELL-SINCLAIR	0	0.00000	0.00000
Transfer to Raine CULLEN	20	0.00712	0.14240
Transfer to Raine CULLEN	223	0.02728	6.08344
Transfer to Thomas LAMONT	0	0.00000	0.00000
Transfer to Donnie MACLEOD	0	0.00000	0.00000
Transfer to Pauline MUNRO	0	0.00000	0.00000
Transfer to Trish ROBERTSON	356	0.02728	9.71168
Transfer to Trish ROBERTSON	118	0.00712	0.84016
Transfer to Matt WAKELING	0	0.00000	0.00000
Value of non-transferable ballot papers			9.76086
	Total		26.53854

This report contains the transfers results.

Stage 8 - Exclusion of Raine CULLEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Roddy BALFOUR	0	0.00000	0.00000
Transfer to Glynis CAMPBELL-SINCLAIR	0	0.00000	0.00000
Transfer to Thomas LAMONT	0	0.00000	0.00000
Transfer to Donnie MACLEOD	0	0.00000	0.00000
Transfer to Pauline MUNRO	0	0.00000	0.00000
Transfer to Trish ROBERTSON	16	0.00712	0.11392
Transfer to Trish ROBERTSON	92	0.02728	2.50976
Transfer to Trish ROBERTSON	12	0.26093	3.13116
Transfer to Trish ROBERTSON	372	1.00000	372.00000
Transfer to Matt WAKELING	0	0.00000	0.00000
Value of non-transferable ballot papers			373.34262
	Total		751.09746